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® ma+mb—-m=m(a+b)
@)644? + 32ab + 4b* = (8a + 2b)°
® —4a® + 9b> = (2a + 3b)(2a - 3b)
@ x*-5x-6=(x-2)(x-3)

© 2x% = 5xy + 3y* = (x = 3y)(2x -~ y)

B

O ma+mb-—m=m(a+b-1)
® —4a® + 9b* = —(2a + 3b)(2a — 3b)
@ x%-5x-6=(x—-6)(x+1)
® 2x® - 5xy + 3y* = (2x - 3y)(x ~)




3. 2+ (V5+ VD)x+ V35 & 5alobH?

@ (x— V5)(x— V7) @ (x— V5)(x+ V7)
® (x+ VE)(x-1) @ (x+ VB)(x+ VD)

® (x- V35)(x+1)

‘ X+ (V54 VD)x+ V5VT = (x+ VB)(x + V7)




4.  8x2-10x+ 3 & ¢14HS) 51H?

@ (2x+1)(4x+3) @(2x—1)(4x—3)
@ (2x+1)(4x-3) @ (2x-1)(4x+3)

® (2x-3)(4x+1)

‘ 8x2 —10x + 3 = (2x— 1)(4x - 3)
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6.

® 2x24+7x+6

@ x%2-4

O 2x%2+3x-2

@x2—|—x—6

® 3x2+Tx+2




TFHA] (x44)(x—-2) -7 2 T D249 FoF Lhehd 4 9l ol
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@® 2x+38 @)2x+2 @ 2x+1

@ 2x—6 ® 2x-38

B ‘
(r+ )(x=2)~7=2%+ 215

= (x+5)(x-3)
(e 5) 4 (x-8) = 2042




8. a(2a-b) - (b-2a) & AFES5H?

@® (a-1)(2a-b) @ (a-1)(2a+b)
® (a+1)(2a+b) @)(a+1)(2a-0)
® a(2a-b)

a(2a—b) — (b—2a) = a(2a - b) + (2a - b)
=(2a-b)(a+1)




@ (x-y-1)(x+y+6) @ (x-y+1)(x-y-6)
® (x+y+2)(x—y-3) @ (x-y-2)(x+y+3)
@) x-y-1(x-y+6)

B

x—y=r1r & o,

t(t+5) —6=1>+5t-6
=(t-1)(r+6)
=(x-y-1)(x-y+6)




10. ¥ —)? +4yz - 422 & IFESlskREY
(x+ay+bz)(x—y+cz) 7FHAJT old a + b + ¢ &] FL-2?

©-1 @ ® 2 @ 3 ® 4

B

X2 —y? +dyz - 472 = x2 — (9% — dyz + 47?)
=x% = (y - 22)?
= (x+y—-2z)(x -y +22)

et a=1,b=-2,¢c=29B2 g+ b+ c=10°]|ch




11. o] 022~ 12v +a & SFAAFAH O TAW (3x-b)2 o]} o,

a—-2b 9| & F5Hd?

® -4 @ -2 3)0 @ 2 ® 4

9x2 —12x+a= (3x)2-2-3x-2+22 = (3x-2)2
et a =4, b =2 °Jth.
La—=-2b=4-2%x2=0




12. y<x<0d, /a2 = 2xy+y7+ /o7 + 22y + )2 & 3] 57

@ o @ 2x-2y ® 2x

@ 2y @—2y

VE=)2+ /(x+y)? =lx—-yl+ Ix+)yl
=x-y=(x+y)=-2




13. 2 +ax-20 9 ¢ F o7t x+4 4 o, a o] 3E2?

-2 @-1 oo @ 1 ® 2

¥ +ax—20=(x+4)(x-5) a=-1




14.

BFE AN Dol HolA o] AL ZEste] x o] A50k A
b2 Hho] W)t AJshs @50 L ES B3 WY|E Seit

£ Wt sto] 9% 2ok SHAE (x-2) (r-3)
Zhubgieh A AN 2ol FA o] RHAS vk A Q1% Refl

O x+1)(x+2) @ x+1)x+3) @ (x+1)(x+4)

@(x+1)(x+5) ® (x+1)(x+6)

¥ =bx+6—>x2+5x+6>x>+6x+5—> (x+1)(x+5)




15. thgol Fol7l mFg olgstol 412 A9 AA7tF el Yol 2 vhehy
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DO x+4 @)2x+1 ® 2x+3
@ 3x+2 ®)3x+4

6x%+11x+4 = (2x+1)(3x+ ,
4) oo g AxZ ol Fhzet
A2o] Aol=3xra Shoxt1  2TH]
o]}, \

~-3p+4----""




16. The I e Aekelze] Wolrt 22 4 5x2 & 1, o] Artel o)

=ol&?

T—3
D x+2 @ x-2 @2x+1
@ x-1 ® x+1

1 1

2x2 +5x+2=2x+1)(x+2) = h(x+2)°]|B2 h = 2x + 1
o|th.




17 E}_Go]-/gl (a+b)2—(a+b)a_2a2_%q_—gg_/4
42 the ol n2w)
® (2a-10) @(b—a)
@(Qa—}—b) ® 2a

(x=2a)(x+a)
=(a+b-2a)(a+b+a)
(b—a)(2a+b)




18. (2x+1)°~(x-2)° = Bx+a)(x+b) & W, a+3b °] F& 75107

D45 @6 @7  @s ® 9

B 1
(2x+1)2-(x-2)2

=2x+14+x-2)2x+1-x+2)

=(Bx-1)(x+3)

a=-1,b=3

SLa+3b=-14+9=38




19. 2 -3x=7L M, x(x-1)(x-2)(x-3) +4 9] F2?

@® 28 @ 35 ® 63 @67 ® 140

(x? = 3x)(x* = 3x+2) +4 oA 7(7+2) + 4 = 67 °|T}.




20. xy-3y+x-3& oot (ax+b)(my+n) S W, a+b+m+n
o] gk& +std?

@ 1 @ 2 @0 @ -1 ® -2

yx=3)+(x-3)=(x-3)(y+1)
La+b+m+n=1-3+1+1=0




